HUDSON MOTOR CAR COMPANY, DETROIT 14, MICHIGAN

General Parts Policies

AND Information

Bulletin

490 SERIES

Number

Date
11/5/48

TO ALL

The following PRICE CHANGES on special net Items are effective immediately. List
prices given below are also shown on Parts Price Revision Sheet 48-32.

LIST DEALER
PART NO. NAME PRICE NET
*BM 42028 Cylinder water jacket cover $3.35 $2.52
*F 42110 Trans countershaft gear 6.00 4.20
*F 47291 Main drive gear assembly 12.50 9.38
*F 47302 Trans countershaft gear 4.75 3.33
*F 150197 Trans reverse gear 4.25 2.98
*F 155533 Trans countershaft gear 7.00 4.73
*BT 155534 Trans countershaft gear 5.00 3.50
*F 159533 Trans main drive gear 12.50 9.38
*F 163907 Trans main drive gear 12.50 9.38
*C 203910 Front door assy. - prime 50.00- 37.40
*C 203934 Front door assy. - prime 50.00 37.50
*C 203962 Rear door assy. - prime 50.00 37.50
*C 203963 Rear door assy. - prime 50.00 37.50
*C 203978 Rear door assy. - prime 50.00 37.50
*C 203979 Rear door assy. - prime 50.00 37.50
*C 206411 Front door assy. - prime 50.00 37.50
*C 206435 Front door assy .- prime 50.00 37.50
*C 206443 Door assembly 50.00 37.50

Production of the 1149011 series Hudson cars began on Wednesday, October 27, the
first car number being 492-101.

The last “480” series car produced was numbered 482-117301.

Chassis models for the “490” series are as follows:

Corresponding
Model No. Model Name 480 Series Model
491 Hudson Super Six 481
492 Hudson Commodore Six 482
493 Hudson Super Eight 483
494 Hudson Commodore Eight 484

Part numbers for service replacement parts continue in the same numerical series as for
the “480” series. There is no definite breaking off point for either chassis or body part.

(OVER)

Subject

490

SERIES

CARS IN
PRODUCTION

PART
NUMBERS

FORM 11053



Subject

The color option set-up for the new “490” series Hudson cars is the same as last production
of the “480” series.

Following is a list of part numbers, name and option letters for the body lacquers used on
the “490” series:

OPTION

PART NO. COLOR NAME LETTER
C 88024 Ebony Black K
C 175320 Piedmont Green P
C 175319 Savoy Green S

175,7169 Brigantine Blue B
C 175368 Jersey Blue J
C 175371 Glowing Gray G
C 175370 Queenstown Gray Q
C 175364 Nomad Bronze N
C 175363 Holster Tan H
C 175327 Deep Maroon M
C 175328 Ruby Red RR
C 175354 Platinum CC
C 175320 Piedmont Green - upper)
C 175319 Savoy Green - lower) Duo-tone SP
C 175369 Brigantine Blue - upper)
C 175368 Jersey Blue - lower) Duo-tone IB
C 175371 Glowing Gray - upper)
C 175370 Queenstown Gray - lower) Duo-tone QG
C 175364 Nomad Bronze - upper)
C 175363 Holster Tan - lower) Duo-tone HN
C 175327 Deep Maroon - upper)
C 175328 Ruby Red - lower) Duo-tone RM

P. E. Tones, Supervisor
Parts Specification Division
Service Department

(THIS BULLETIN AS WRITTEN IS BEING SENT TO SERVICE STATION
AGREEMENT HOLDERS AS BULLETIN NO. 9)



HUDSON MOTOR CAR COMPANY, DETROIT 14, MICHIGAN

General Parts Policies

AND Information

Bulletin

Number

Date
1-15-48

TO ALL DEALERS:

The following PRICE CHANGES on service replacement parts are effective immediately.

PART NO.

*C 211262
*C 211263
BO 213860
BO 213861
BO 213862
BO 213863
BO 213864
BO 213865
BO 213866
BO 213867
C 215944
*C 300101
*C 300247

NAME

Cowl side panel - RH
Cowl side panel - LH
Glove box door complete
Glove box door complete
Glove box door complete
Glove box door complete
Glove box door complete
Glove box door complete
Glove box door complete
Glove box door complete
Molding-front header
Crankshaft assembly-std

Crankshaft assembly-.010 u/s

LIST DEALER
PRICE NET

$ 3.55 $ 233
3.55 2.33
7.50
7.00
7.00
7.50
7.50
7.00
7.00
7.50
1.35

90.00 67.50
90.00 67.50

P. E. Tones, Supervisor
Parts Specification Division
Service Department

(THIS BULLETIN AS WRITTEN IS BEING SENT TO SERVICE STATION
AGREEMENT HOLDERS AS BULLETIN NO. 5)

Subject

FORM 11053



HUDSON MOTOR CAR COMPANY, DETROIT 14, MICHIGAN

Bulletin

General Parts Policies

AND Information

490 SERIES

Number

Date
1-15-48

TO ALL DEALERS:

The following PRICE CHANGES on service replacement parts are effective immediately:

PART NO.

*BM 37192

C
BT
BT
BT
BT
BT
BT
BT
M
*A
*A
*A
A
A
A

42947
44180
48411
48701
48706
48715
48729
48887
130702 Yd
133022 Pr
133023 Pr
133024 Pr
133025 Pr
133040 Pr
133041 Pr

BO147870
BT 150257
BZ 151149
BZ 151150
F 151847
BT 152282
32156478
BT 156496
BZ 156506
BZ 156551
BZ 156537
BZ 156551
BZ 156894
BZ 156895
SP 160939
BZ 162868
C 164512
BZ 164900
BZ 164907
BT 164960
BT 164966
BT 164968

LIST
PRICE

$ 3.90
4.50
.10
40
4.10
15
.10
4.00
15
2.75
24.25
24.25
24.25
24.25
24.25
24.25
6.50
1.95
2.65
.30
4.50
.50
4.75
1.35
3.50
25
13.00
.05
3.70
3.70
30.18
.03
3.75
9.50
1.50
4.50
8.50
1.50

DEALER
NET

$ 3.10

18.19
18.19
18.19,
18.19
18.19
18.19

(OVER)

Subject

FORM 11053



Subject

PRICE CHANGES - Cont’d.

LIST DEALER

PART NO. PRICE NET
BT 164971 .60

BT 164972 .90

BT 164973 .10

BZ 165830 14.00

BU 165993 13.00

BT 186063 26.50

BZ 166101 5.00

BZ 166142 5.00

C 166742 20.00

F 166743 20.00

F 166745 20.00

F 166746 20.00

F 166747 20.00

BT 170688 75

*C 203902 Pr 50.00 37.50
*C 206403 Pr 50.00 37.50
*C 206423 Pr 50.00 37.50

P. E. Tones, Supervisor
Parts Specification Division
Service Department

THIS BULLETIN AS WRITTEN IS BEING SENT TO SERVICE STATION
AGREEMENT HOLDERS, AS BULLETIN NO. 6)




HUDSON MOTOR CAR COMPANY, DETROIT 14, MICHIGAN

and Information

Bulletin

General Parts Policies

490 Series

Number

Date
11-23-48

TO ALL DEALERS:

Revision Sheet 48-33.

PART NO.

*F 151933
*F 163908
*0 210853
*0 213869
*0 214039
*C 215652
*C 215655
*C 216444
*0 216480
*C 216481
*C 216482
*C 216483
*C 216484
*C 216485
*C 216487
*C 216640

Water pump assembly

Trans M/S intermed gear
Roof front finish panel

Top complete - CvBro

Top deck and side quarters
Trans floor cover - LHD
Trans floor cover - RHD

Seat frame and back complete
Rear seat cushion complete
Rear seat cushion complete
Rear seat cushion complete
Rear seat cushion complete
Rear seat cushion complete
Rear seat cushion complete
Rear seat cushion complete
Rear curtain & window assembly

LIST
PRICE

$11.25
12.50
13.50
400.00
61.50
9.75
11.25
200.00
54.50
65.00
51.50
66.50
77.50
84.00
102.50
70.00

F. E. JONES

Following are list and net prices on the special net item; which appear on Parts Price

DEALER
NET

$ 7.68
9.38
8.70

320.00
46.15
6.61
7.51
150.00
40.88
48.75
38.63
49.88
58.13
63.00
76.88
52.50

Supervisor Parts Specification Division

Service Department

(THIS BULLETIN AS WRITTEN IS BEING SENT TO SERVICE STATION AGREEMENT
HOLDERS AS BULLETIN NO. 11)

Subject

FORM 9037



HUDSON MOTOR CAR COMPANY, DETROIT 14, MICHIGAN

General Parts Policies

and Information

Bulletin

490 Series

Number

Date
12-29-48

TO ALL DEALERS:

A new Numerical Parts Price List Supplement, No. 464, is now off the press,
and shipment of this book to Zones and other Distributors will be made immediately.

The new Price Supplement 464 supersedes Supplement 463, which should
now be discarded. The prices in this new supplement 464 also supersede those in the 480
Series Preliminary Non-Interchangeable Parts Price List, published February 15, 1946,
which may also be discarded. Prices shown in the new book are up-to-date as of Decem-
ber 15, 1948, and the book includes all information contained in Parts Price Revision
Sheets numbered 48-33 or below.

Therefore, all Price Revision Sheets issued prior to December, 1948, should
now be destroyed, as they are superseded and replaced by the new Supplement 464.
Corrections, revisions and additions to 464 will be given to you in future Price Revision
Sheets in the 49 series.

Shipment of the now books will be made from the Factory to all Zones and
Other Distributors, who will in turn distribute them to Dealers and Service Station
Agreement Holders. Extra copies, if you require them, may be obtained from your
Distributor.

P. E. Jones, Supervisor
Parts Specification Division
Service Department

(THIS BULLETIN AS WRITTEN IS BEING SENT TO SERVICE STATION
AGREEMENT HOLDERS AS BULLETIN NO. 21)

Subject

NEW
NUMERICAL
PRICE
SUPPLEMENT 464

SUPERSEDES
PREVIOUS
PRICE LISTS

GET YOUR
BOOKS FROM
DISTRIBUTOR

FORM 9037



HUDSON MOTOR CAR COMPANY, DETROIT 14, MICHIGAN

General Parts Policies

and Information

Bulletin

490 Series

Number

Date

1/3/49

TO ALL DEALERS:

Following are LIST AND NET PRICES on the special net items shown on Parts
Price Revision Sheet 49-1. These prices are effective as of January 10, 1949.

PART NO.

*F o 42111
*BM 44062
*C 47106
*F 47301
*BO 125718
*BO 125719
*A 140311
*C 148675
*F 150146
*C 153007
*F 154551
*F 155529
*C 166226
*C 166333

Trans countershaft gear

LIST DEALER
PRICE NET

$ 5.00 $ 3.75

Water pump assembly 7.50 5.63
Radiator core assembly 62.50 46.88
Trans countershaft 4.00 3.00
Front door window regulator assembly 5.00 3.75
Front door window regulator assembly 5.00 3.75
Radiator louver panel assembly-Pr 6.25 4.38
Top front header rail 30.00 25.00
Trans countershaft 4.25 3.19
Gas tank assembly 16.25 10.83
Trans countershaft 4.75 3.56
Countershaft 4.00 3.00
Diff carrier & gear set assembly 93.50 70.15
Diff carrier & gear set assembly 93.50 70.15

P. E. Jones, Supervisor
Parts Specification Division
Service Department

(THIS BULLETIN AS WRITTEN IS BEING SENT TO SERVICE STATION
AGREEMENT HOLDERS AS BULLETIN NO. 23)

Subject

FORM 9037




HUDSON MOTOR CAR COMPANY, DETROIT 14, MICHIGAN

General Parts Policies

and Information

Bulletin

Number

Date
1-17-49

TO ALL DEALERS:

A new Dealer Net Price List has been published for distribution to Dealers and
Service Station Agreement Holders.

This net price list, printed on yellow paper, shows list and Dealer net prices on
approximately five hundred service replacement parts which are in the special net price
group. It is designed to be used in conjunction with the new Numerical Price Supplement
464, in which the special net items are designated by means of an asterisk.

Prices shown are effective as of December 15, 1948. In order to keep the list
up-to-date, we suggest that proper notations be made of price changes and other revisions
as you receive them.

The Net Price List does not include HA, SP or HS items, these are covered in the
Accessory Price List recently published.

Copies of the Dealer Net Price list will be mailed at once from the Factory to all
Dealers and Service Station Agreement Holders.

P. E. Jones, Supervisor
Parts Specification Division
Service Department

(THIS BULLETIN AS WRITTEN IS BEING SENT TO SERVICE STATION
AGREEMENT HOLDERS AS BULLETIN NO. 30)

Subject

NEW
DEALER
NET
PRICE
LIST

KEEP
IT
CURRENT

MAILED
FROM
FACTORY

FORM 9037



HUDSON MOTOR CAR COMPANY, DETROIT 14, MICHIGAN

General Parts Policies

and Information

Bulletin

Number
13

Date

5-18-49

TO ALL DEALERS:

Following are LIST AND NET PRICES no the special net Items shown on Parts
Price Revision Sheets 49-8 and 49-10. These are new prices. Please add this information to
the Hudson Net Price List published Dec. 15. 1948.

LIST DEALER
PART NO. NAME PRICE NET
« C 214224 Rear Seat Center Arm Rest $ 60.00 $45.00
« C 214434 Front Seat Cushion Frame & Back 200.00 150.00
*«C 216486 Rear Seat Cushion 90.00 67.50
* C 302625 Cylinder & Pistons Assembly - Six 174.00 130.50
* C 302705 Gas Tank Assembly 22.45 14.42
* C 302710 Hypoid Gear Lubricant 1.50 .90

Parts Specification Department
Service Division

(THIS BULLETIN AS WRITTEN IS BEING SENT TO SERVICE STATION
AGREEMENT HOLDERS AS BULLETIN NO. 62)

Subject

FORM 9037



HUDSON MOTOR CAR COMPANY, DETROIT 14, MICHIGAN

General Parts Policies

and Information

Bulletin

Number
14

Date
6/24/49

TO ALL DEALERS:

To provide added stability for the rear view mirror, a new Rear View Mirror Bracket
and Bracket Cover has been incorporated in production as of April 26, 1949.

The new Bracket and Cover will enable you to provide your customers with the
necessary parts to insure a vibration proof mirror mounting. This makes a very stable and
vibration proof mounting when the larger and heavier Glare Proof and Oval Mirrors are
installed as accessories.

Part numbers for new Bracket and Cover are as follows:

Part No. Name Price
BO 216772 Support-Rear View Mirror Bracket $ .25
BO 216773 Cover-Rear View Mirror Support Bracket .10

The 490 Series cars are now using a new Escutcheon, which supersedes Part 301014
Mounting Bezel formerly used between the Switch Mounting Nuts and the Instrument panel
Switch Mounting Ornaments. The new Escutcheons are for the Fog Light, Vacumotive
Drive, Hudson Drive Master, Windshield Wiper, Lighting and Top Lift Controls.

Part numbers released and prices are as follows:

Part No. Name Price
BO 216720  Escutcheon - W/Shield Wiper Control “Wiper” $ .50
BO 216721 Escutcheon - Fog Lamp Switch “Fog” .50
BO 302441 Escutcheon - Lighting Switch ”Lights” .50
BZ 302442  Escutcheon - VD-Inst Panel Switch “Vac Drive” .50
BO 302443 Escutcheon - HDM-Inst Panel Switch “Dr Master” .50
BO 302444  Escutcheon -Top Control Valve

Operating Rod “Top Lift” .50

These Escutcheons provide you with a means of supplying customer requirements
for identifying the various instrument panel controls for all 480 and 490 Series cars not so
originally equipped.

(OVER)

Subject

NEW REAR
VIEW
MIRROR
SUPPORT

IDENTIFICATION
FOR INST.
PANEL
CONTROLS

FORM 9037



Subject

To preclude the possibility of the incorrect type lubricant being installed in the rear axles
of 480 and 490 Series cars subsequent to replacement of either Part 300280 or 300281 Carrier and
Gear Sets and 300282 or 300283 Gear and Pinion Sets, the Parts Department will add to each
order for 300280 or 300281, 300282 or 300283 one two quart can of Hypoid Lubricant. The quan-
tity is sufficient to provide a refill for the rear axle.

The part number and list price released is as follows:

List
Part No. Name Price
C 302710 Hypoid Gear Lubricant - 2 quart can $ .50

A supply of this part should be maintained in every Parts Department to take care of the
initial refill after effecting repairs to the rear axle to provide for proper break in of any new parts.

C. J. Perrin, Supervisor
Parts Specification Department
Service Division

(THIS BULLETIN AS WRITTEN IS BEING MAILED TO SERVICE STATION
AGREEMENT HOLDERS AS BULLETIN NO. 75).



HUDSON MOTOR CAR COMPANY, DETROIT 14, MICHIGAN

Number
General Parts Policies 16
. Date
and Information 7/1/49
Bulletin Subject
TO ALL DEALERS:
Six cylinder connecting rod and main bearing Inserts In the various sizes for service E\IIESITEIE"IFSG
purposes are now being supplied by the Service Parts Department in packages, each of which
: PACKAGED
contains two halves.
FOR
SERVICE

The part numbers covering both the main and connecting rod bearings, as
packaged, follow:

Part No. Name Size
BM 302725 Bearing - crankshaft #1 (2 pcs.. 300260) Standard
BM 302730 Bearing - crankshaft #2 (2 pcs.. 300261) Standard
BM 302735 Bearing - crankshaft #3 (2 pcs.. 302574) Standard
BM 304270 Bearing - crankshaft #4 (2 pcs.. 300263) Standard
BM 302726 Bearing - crankshaft #1 (2 pcs.. 301286) .001 u/s
BM 302731 Bearing - crankshaft #2 (2 pcs.. 301287) .001 u/s
BM 302736 Bearing - crankshaft #3 (2 pcs.. 302575) .001 u/s
BM 302741 Bearing - crankshaft #4 (2 pcs.. 301289) .001 u/s
BM 302727 Bearing- crankshaft #1 (2 pcs.. 302584) .002 u/s
BM 302732 Bearing - crankshaft #2 (2 pcs.. 302585) .002 u/s
BM 302737 Bearing - crankshaft #3 (2 pcs.. 302592) .002 u/s
BM 302742 Bearing - crankshaft #4 (2 pcs.. 302590) .002 u/s
BM 302728 Bearing - crankshaft #1 (2 pcs.. 300436) .010 u/s
BM 302733 Bearing - crankshaft #2 (2 pcs.. 300437) .010 u/s
BM 302738 Bearing - crankshaft #3 (2 pcs.. 302575) .010u/s
BM 302743 Bearing.- crankshaft #4 (2 pcs.. 300439) .010u/s
BM 302729 Bearing - crankshaft #1 (2 pcs.. 3025851 012 u/s
BM 302734 Bearing - crankshaft #2 (2 pco. 302587) 012 u/s
BM 302739 Bearing - crankshaft #3 (2 pcs. 302593) 012 u/s
BM 302844 Bearing - Crankshaft #4 (2 pcs. 302591) 012 u/s
F 302745 Bearing - connecting rod (2 pcs.. 300074) Standard
F 302746 Bearing - connecting rod (2 pcs.. 301290) .001 u/s
F 302747 Bearing - connecting rod (2 pcs.. 302577) .002 u/s
F 302748 Bearing - connecting rod (2 pcs.. 300990) .010 u/s
F 302749 Bearing - connecting rod (2 pcs 302578) 012 u/s

Note: Select all bearlngs to give correct clearance as specified by the Technical
Service Division.

FORM 9037




Subject

The 1946-1947 front and rear bumper impact bars C 206704 and C 206961 are now
being furnished for installation on 1940-41 model cars.

The use of these impact bars require the drilling of additional holes in them to match
the holes in the frame to bumper bars.

The 1946-1947 bars both front and rear may be installed on Models 12,14,15,17 and
second design Model 11 without additional parts.

For all 1940 Models and Models 10 & 18 and first design Model 11, attaching parts
are required which are available as a Kit under the following part numbers.

List
Part No. Name Price
BZ 206222 Kit-Front Bumper Bar Attaching $5.00
BZ 206223 Kit-Rear Bumper Bar Attaching 3.45

C. J. Perrin, Supervisor
Parts Specification Department
Service Division

(THIS BULLETIN AS WRITTEN IS BEING MAILED TO SERVICE STATION
AGREEMENT HOLDERS AS BULLETIN NO. 80).




HUDSON MOTOR CAR COMPANY, DETROIT 14, MICHIGAN

General Parts Policies

and Information

Bulletin

Number
17

Date
7/28/49

TO ALL DEALERS:

All 490 series cars, less HDM, beginning with car 491-78419 excluding car numbers
78944-79120 inclusive, use a new Handy Shift Control Tube and Lover Assembly with a
new control tube lever to bellcrank rod.

The change eliminates vibration and noise that reached the shifting lever through the
bell joint formerly used. Attachment is through a pin and rubber bushing fitting into the eye
on the new control tube lever to bellcrank rod.

The previous parts and assemblies remain in use on all cars, with HDM equipment.
New parts and their prices follow:

List
Part No. Name Price
C 302504 Tube and fulcrum brkt assy - painted $8.50
C 302505 Tube and fulcrum brkt assy-plate 8.50
BT 302509 Rod - tube to bellcrank 1.85
BT 302702 Bushing-tube to bellcrank rod .10
BT 71010 Washer - tube to bellcrank rod bushing .03
C 302537 Control lever tube and rod assy - painted 12.75
C 302538 Control lever tube and rod assy - plated 12.75

Recent changes in the rear compartment door inner panels, whereby a relocation of
the hinges was accomplished, provides clearance between the hinges and the rear compart-
ment door opening weatherstrip.

These changes necessitated new rear compartment door assemblies, the part numbers
and prices of which appear below.

List
Part No. Name Price
C 217370 Door assy - rear compartment (491-493 Bro-Sed) $22.25
C 217371 Door assy - rear compartment (492-494 Sed) 22.25
C 217372 Door assy - rear compartment (491-493 Cpes-CvBro) 32.00
C 217373 Door assy - rear compartment (492-494 Cpes-CvBro) 32.00
BO 217358 Spacer compartment door hinge (2 req’d) 15
BO 71683 Bolt rear compartment door hinge (4 req'd) .05

(OVER)

Subject

HANDY SHIFT
CONNECTORS
CHANGED

NEW REAR
COMPARTMENT
DOOR
ASSEMBLIES

FORM 9037



